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Physics

1. A 0.800-kg ball is tied to the end of a string 1.60 m long and swung in a vertical circle. Calculate the total 1
work done on the ball by (i) the tension in the string and (ii) gravity for motion along the semicircle from
the lowest to the highest point on the path.

a)0,-281] b)0,-251]
c)0,-2.51] d)0,-25.1]
2. work-energy theorem does not give information on 1

a) work done

b) time dependence

c) difference of kinetic energies d) change in kinetic energy
3. A trolley of mass 200 kg moves with a uniform speed of 36 km/h on a frictionless track. A child of mass 20 1
kg runs on the trolley from one end to the other (10 m away) with a speed of 4 m s~ ! relative to the trolley
in a direction opposite to the its motion, and jumps out of the trolley. What is the final speed of the trolley?

a)11.36 m/s b)8.13 m/s
c) 10.36 m/s d) 9.36 m/s
4. The change in kinetic energy of a particle is equal to the 1
a) work done on it by some force b) work done on it by the net force
c) work done on it by the aerodynamic d) loss in ambient kinetic energy
force

5. The launching mechanism of a toy gun consists of a spring of unknown spring constant. When the spring 1
is compressed 0.120 m, the gun, when fired vertically, is able to launch a 35.0-g projectile to a maximum
height of 20.0 m above the position of the projectile hefore firing. Neglecting all resistive forces, determine

the spring constant.

a) 873 N/m bh) 995 N/m
c) 903 N/m d) 955 N/m
6. For a ball dropped from a tower of height h the total mechanical energy is 1
a) the difference of potential and kinetic b) the potential energy
energies

c) the sum of potential and kinetic energies  d) the kinetic energy
7. A bolt of mass 0.3 kg falls from the ceiling of an elevator moving down with an uniform speed of 7Tm/s. It 1
hits the floor of the elevator (length of the elevator = 3 m) and does not rebound. What is the heat
produced by the impact?

a)9.22] b)8.42]
c)8.82 ] d)8.11]
8. In which of the following cases is the work done positive? 1

a) Work done by gravitational force whilea  h) Work done by friction on a body sliding
man in lifts a bucket out of a well by means  down an inclined plane

of a rope tied to the bucket

c) Work done by the resistive force of air on  d) work done by an applied force on a body
a vibrating pendulum in bringing it to rest. moving on a rough horizontal plane with

uniform velocity

9. Physically, the notion of potential energy is applicable only to 1
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10.

11.

12.

13.

14.

13.

16.

17.

18.

19.

a) The class of forces where work done b) The class of forces where work done
against the force gets converted to thermal  against the force gets dissipated

energy
c) The class of forces where work done d) The class of forces where work done
against the force gets converted to kinetic against the force gets stored up as energy.
ENergy

The Sun converts an enormous amount of matter to energy. Each second, 4.19 x 10 kge—approximately
the capacity of 400 average-sized cargo ships—is changed to energy. What is the power output of the Sun?

a) 1.57 x 10*° w b) 3.77 x 10%° W
€)2.62 x 10%° w d)0.72 x 10%° w
In precession such as that of a top

a) the axis of rotation oscillates horizontally  b) the axis of rotation oscillates vertically

c) the axis of rotation is fixed d) the axis of rotation moves
A body having moment of inertia about its axis equal to 3 kg m? is rotating with angular velocity equal to 3
rad/s. The kinetic energy of this rotating body is the same as that of a hody of mass 27 kg moving with a
speed of

a) 0.5 m/s by 1.0 m/s

c) 1.5 m/s d) 2.0 m/s
If the radius of earth contracts to half of its present value, the mass remaining unchanged, the duration of
the day will he

a) 48 hrs b) 6 hrs
c) 24 Hrs d) 12 Hrs

Which of the following has the largest moment of inertia?
a) Solid sphere of mass M and radius R b) Bar magnet of mass M and length R
about any axis passing through its centre of  about any axis passing through its centre of
mass mass
c) Disc of mass M and radius R about an d) Ring of mass M and radius R about an
axis perpendicular to its plane axis perpendicular to its plane

The angular velocity of a body changes form 1 rev/ sec to 16 rev/sec. without applying any external torque.
The ratio of its radius of gyration in the two cases is

a)itis 1:16 h)itis4: 1

c)itis 16:1 d)itis 1:4
A thin circular ring of mass M and radius R is rotating about its central axis with angular velocity. Four
point objects each of mass m are attached gently to the opposite ends of two perpendicular diameters, the
angular velocity of the ring is given by

M—4m M+4m
a) 3 am W b) =
M M
) i W s yawm

A particle performs uniform circular motion with an angular momentum L. If the frequency of particle's
motion is doubled and its K.E. is halved, the angular momentum becomes

a) L/4 b) 2L

c) 4L d) L2
A thin uniform rod of length 21 and mass M is acted upon a constant torque. The angular velocity changes
from zero to w in time t. The value of torque is

MTw 2M 1w
a) S h) =3
MPw MPw
) o d =
The moment of inertia of a solid sphere of density p and radius R is given by
176 b 176 12
g g gl
]
c) mspR d) 175!0R

. The radius of gyration of a rod of mass 100 gm and length 100 cm about an axis passing through its edge

=




30.

31

and perpendicular to its length is given by
100

da) —

Va3
.
c) 50

3.2

b) 2L
2.3
d) 22
33

. A flywheel at rest is to reach an angular velocity of 36 rad/sec, in 6 sec, with a constant angular

acceleration. The total angle turned during this interval is :

a) 108 rad
c) 144 rad

. In pure translational motion of a rigid body

a) at any instant of time every particle of
the body has the same velocity.

c) at any instant of time velocity is
dependent on the position vector of a point
on the body

a) Angular momentum
c) Kinetic energy of rotation

is
a) upward from the plane of paper
c) At right angles to the plane of paper.

about
—02ms«02m—=|+—0lm——02m —
o o o -3
Ik kg P 4kg g

a) 0.5 kg metre?
¢) 0.3 kg metre?

origimn

a) goes on increasing
c) remains constant

mass. The formula for R is

a) the product of the total mass of the
system and the velocity of its centre of mass

c) the product of half the total mass of the
system and the velocity of its centre of mass

h) 216 rad
d) 72 rad

h) at any instant of time different particles
of the body have different velocities.
d) at different instants of time every
particle of the body has the same velocity.

. A boy comes running and sits on a merry-go-round. What is conserved?

b) Linear momentum
d) None of these

. A mass is revolving in a circle, which is in the plane of paper. The direction of angular acceleration if any,

h) Tangential
d) towards the radius

. Four masses are fixed on a mass less rod as shown in figure. The moment of inertia about the axis P is

h) 1.04 kg metre?
d)2kg metre?

. A particle moves with a constant velocity parallel to the x - axis. Its angular momentum with respect to the

h) goes on decreasing
d) is zero

. Let r; be the position vector of the i'™ particle having mass m; and R be the position vector of the centre of

Yl P
aR= & hR = S
- Zm] rl P Eml‘rl
R = S d R = o
. A ring of radius r and mass m rotates about its central axis. The kinetic energy is
a) mr W2 b) mr? o? 2
¢) mr w? d)mr? w?

. The total momentum of a system of particles is equal to

h) the product of the total mass of the
system and the average velocity of its
centre of mass

d) the product of the total mass of the
system and the speed of its centre of mass

If a gymnast sitting on a rotating stool with his arms outstretched, suddenly lowers his hands

a) the angular velocity decreases
c) the angular momentum increases

b) his moment of inertia decreases
d) the angular velocity stays constant

We have two spheres, one is a hollow shell and the other a solid. They have identical masses and moments
of inertia about their respective diameters. The ratio of their radii is given by




32.

33.

34.

35.

36.

37.

38.

39.

41.

a)itis 5:7 b)itis 3: 5

SRVACERVAQ) v 3): v 6)
The vector product of two vectors a and b is a vector ¢ such that the magnitude of c is given by

a) |a| [b|cos8 b) |a| |b|tanf

c) |a| |b|cotf d) |a| |b|sinf
A planet is revolving round the sun in an elliptical orhit. The maximum and the minimum distances of the
planet from the sun are 3 x 102 mand2 x 10 m respectively. The speed of the planet when it is
nearest to sun is 2 X 107 m/sec.what is the speed of the planet when it is farthest from the sun?

a)1.5 x 107 m/sec b) 2.66 x 10° my/sec

) 1.33 x 10° m/sec d) 3 = 10° m/sec
A wheel is rotating about an axis through its centre at 720 r.p.m. When acted upon by a constant torque
opposing its motion for 8 seconds it stops rotating. The value of this torque in Nm is (given I =% kgm?)

a)72 b) 48
c) 96 d) 120

In rotation of a rigid body about a fixed axis is that in which
a) every particle of the body movesina b) every particle of the hody moves in a
circle, which lies in a plane perpendicular ellipse, which lies in a plane perpendicular
to the axis and has its centre on the axis to the axis and has its focii on the axis
c) particles close to the axis have larger d) every particle of the body moves at the
velocities same speed

Two circular rings have their masses in the ratio 1:2 and their diameters in the ratio 2: 1. The ratio of their
moments of inertia about their axes is

a)itis1:2 byitis4: 1

clitis2:1 diitis1: 4
The angular velocity of a body changes form 1 rev [ sec to 25 rev/sec. without applying any external
torque. The ratio of the radii of gyration in the two cases is

a)itis 1: 25 b)itis 25:1

c) it is 5:1 d)itis1: 5
A fan of moment of inertia 0.3 kg m?is to run up to a working speed of 0.5 revolution per second. Indicate
the correct value of the angular momentum of the fan

a) (w /6) (kg = m?) | sec b) 3( kg = m?) | sec

c) 0.3 kg x m? | sec d) 6 kg % m?2
The angular velocity of the body changes from wy to we without applying torque but by changing moment
of inertia. The ratio of initial radius of gyration to the final radius of gyration is

[sec

a)wa:w b]wgz:wg
o) (1/w2): (1) wr) d) v/ (w2) s v/ (wi)
. Considering hinary (double) stars in our frame of reference, the trajectories of the stars are a combination
of
a) b)
i. uniform motion in a straight line of the 1. uniform motion in a straight line of the
centre of mass and centre of mass and
ii. circular orbits of the stars about the ii. elliptical orbits of the stars about the
centre of mass centre of mass
c) d)
i. uniform motion in a straight line of the 1. uniform motion in a circle of the centre
centre of mass and of mass and
ii. straight line motion of the stars about ii. circular orbits of the stars ahout the
the centre of mass centre of mass
Chemistry

2 is passed into one dm?® of a solution containing 0.1 mole of Zn®* and 0.01 mole of Cu?' till the

sulphide ion concentration reaches 8.1 x 10~ moles. Which one of the following statements is true? [Kgp

of ZnS and CuS are 3 x 10722 and 8 x 1073 respectively]

a) Only ZnS precipitates b) Both CuS and ZnS precipitate
c) Only CuS precipitates d) No precipitation occurs
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42PClg, PCly and Cl; are at equilibrium at 500K in a closed container and their concentrations are
0.8 x 10 molL ™! 1.2 x 10 *mol L 'and 1.2 x 10 *mol L ! respectively. The value of K, for
the reaction PCls (g) = PCl3 (g) + Cla (g) will be

a)1.8 x 10°mol L™ n1.8 x 10°
0)0.55 x 104 1.8 x 1073L mol *
43. Hydrogen molecule (H ) can be dissociated into hydrogen atoms (H). Which one of the following changes

will not increase the number of atoms present at equilibrium?
a) increasing the total pressure b) increasing the temperature
c) increasing the volume of the container d) adding H atoms

44, Does the number of moles of reaction products increase, decrease or remain same when each of the
following equilibria is subjected to a decrease in pressure by increasing the volume? PCl; (g) =
PCly(g) + Cly(g)

a) remain the same b) increase
c) decrease largely d) decrease

45. A chemist dissolves an excess of BaSO in pure water at 25°C if itsK,, = 1 X 107! what is the

concentration of barium in the water ?

a)10 M b) 10 M
c)101° M d)10° M
46. When hydrochloric acid is added to cobalt nitrate solution at room temperature, the following reaction

takes place and the reaction mixture becomes blue. On cooling the mixture it becomes pink. On the hasis
of this information mark the correct answer. [Co (H20)6]%" (agq) + 4Cl™ (aq) =
[CoCL]* (aq) + 6H200)

a) AH = 0 for the reaction b) AH < 0 for the reaction

¢) The sign of AH cannot be predicted on d) AH > 0 for the reaction

the basis of this information.
47. pH of a saturated solution oBa(OH), is 12. The value of solubility product (Kg,) of Ba(OH), is

a)3.3x 1077 h)5 x 1077
0)4.0x10°° d)5.0 x 10°°
48. Acidity oBF3can be explained on the basis of which of the following concepts?
a) Lewis concept b) Bronsted Lowry as well as Lewis concept
c) Arrhenius concept d) Bronsted Lowry concept

49. For the reaction 2(g) + I2(g) = 2HI (g). the standard free energy is AG~ > () The equilibrium
constant (K ) would be
a)K=1 b K=1
c)K=0 dK=1
50. If in a mixture where () = k is combined, then what happens?
a) nothing appears to happen, but forward b) the reaction shift towards products
and reverse are continuing at the same rate

c) the reaction shift towards reactants d) nothing happens

51. Calculate the hydrogen ion concentration in the human blood whose pH 1s 7.38.
a)5.16 x 10°* M ) 3.19 x 107* M
04.17x 1078 M d)6.33 x 10" M

52. The solubility of Caz(PQ4), in water is y moles/litre. Its solubility product is
a) 6y* h) 64y®
c) 36y* d) 108y°

53. We know that the relationship between cand pis K, = K. (Hf'jﬂ‘”-"“’ What would be the value of
/A\n gas for the reaction NH4Cl (s) — NHj (g) + HCI (g)

a) 1.5 h)2.0
c) 0.5 d)1

=
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61.

62,

63.
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54. The ionisation of hydrochloric in water is given below:

HCI (aq) + H,0 ()= H;O0" + CI-

Labhel two conjugate acid-base pairs respectively in the ionization.
a) HCL, H30"and H30" .CI° b) HCL, € and Hy0, Hy0" .
¢) H,0, CI" and H,0" ,HCl d) H;0,Cl and HCL, H,0.

Ifin the reaction 2 Q4 = 2NOg,, x is that part of N3 Ogwhich dissociates, then the number of molecules

at equilibrium will he

a)l b) 3
01+x d (1 + xy)?
. In which of the following solvents is silver chloride most soluble?
a) 0.1 mol dm~*HC] solution b H20
c) Aqueous ammonia solution d) 0.1 mol dm™ AgNO;

7. BF3 does not have proton, but still acts as an acid and reacts with NH3. choose the correct option.

a) BF 3 acts as Lewis acid and coordinate b) BF3 is a Brinsted base and coordinate
bond is formed. bhond is formed.
c) BFy is a Lewis base and coordinate bond  d) BF'3 is a Brénsted acid and coordinate
is formed. bond is formed.
. What is the correct expression for the representation of the solubility product constant of Ag CrO ?
2 [24g* /0703 ] b)[24g7)[CTO3]
o [Ag ]*[CrOy] d) [AgT[CrO7]

. Conjugate acid of a weak base is always stronger. What will be the decreasing order of basic strength of

the following conjugate bases? OH", RO", CH3COO", CI”

a)CH;COO =Cl” RO =0OH"™ b) OH > R > CH5CO >
cdRO™ - OH™ =CH3COO™ = Cl™ d) RO"> OH" > CI > CH5CO0"
Assuming complete dissociation, calculate the pH of 0.002 M KOH solution.
a) 10.93 b) 2.01
c)11.31 d) 10.11 only
What will be the value of pH 0of 0.01 moldm CHCOOH K, = 1.74 x 1[1_5)
a) 3.6 h)34
c) 3.0 d) 3.9

Consider the following gaseous equilibria with equilibrium constants 1 and 2 respectively.
1 .

SOp() + 302() = SOsy)

2803(5)._—‘2502(5} + 02(3}

The equilibrium constants are related as

a) Ky = KL n) 2K = K.
1
OK; =5 DK} =+

The ionization constant of HF is .2 x10™*.Calculate the degree of dissociation of HF in its 0.02 M solution.
The concentrations of all species presenti.e. H307 |, F'~ and HF in the solution and its pH respectively
are.

a)5.9x 10% M, h)
59 x 10 M, 19.6 x 10° M , 2.62. 25x 107 M,25%x 107* M , 176 x 107%, 2.62
c)3.6 x 107° M, d)1.4x107%* M,

36 x1073 M, 186x 1073 M , 2.62. 14 x107%* M, 166 x 107* M , 2.62.
? L ? ?

. At a particular temperature and atmospheric pressure, the solid and liquid phases of a pure substance can

exist in equilibrium. Which of the following term defines this temperature?

a) Boiling point h) Phase change temperature
c) Normal melting point and Freezing point  d) Equilibrium temperature
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66.

67.
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69.

70.

71.

72.

73.

74,

76.

7.

78.

5. The pH of neutral water at 5°C is 7.0. As the temperature increases, ionisation of water increases,

however, the concentration of H™ ions and OH ™ ions are equal. What will be the pH of pure water at
60°C?

a) Less than 7.0 h) Equal to 7.0
c) Greater than 7.0 d) Equal to zero

Using the standard electrode potential, find out the pair between which redox reactions is not feasible .E
values: Fe?*[Fe?" = +0.77; I4/T(s) = +0.54; Cu?*/Cu = +0.34; Ag'/Ag = +0.80

a) Ag and Fe?* h) Fe?* and Cu

c) Ag+and Cu d) Fe** and I-
The oxidizing power of halogens increase in the order of

a)lz < Bro < Clz < Fa b)Fy < Iz < Brs < Cl2

o) Bry < Cly <« Fy < I d)Cly <« Fy < I, < Bry

The exhibition of various oxidation states by an element is also related to the outer orbital electronic
configuration of its atom. Atom(s) having which of the following outermost electronic configurations will
exhibit more than one oxidation state in its compounds.

a) 3s%3p* b) 3d°4s?
c) 3d'4s? d) 3s!
For ions composed of only one atom, the oxidation number is equal to the
a) always -1 h) always +1
c) sum of different oxidation states d) charge on the ion
The decomposition of hydrogen peroxide to form water and oxygen is an example of
a) displacement reactions h) disproportionation reaction
c) decomposition reactions d) combination reactions
Which of the following halogens do not exhibit a positive oxidation number in their compounds?
a)l h) F
c) Br d) Cl
In the decomposition of lead (II) nitrate to give lead (II) oxide, nitrogen dioxide and oxygen gas, the
coefficient of nitrogen dioxide (in the balanced equation) is
a)1 h) 2
c)3 d) 4
Consider the elements: Cs, Ne, I and F. [dentify the element(s) that exhibits only negative oxidation state
al)s MF
c)CsandF d) I
Hydrogen is prepared from H O by adding
a) AL, which acts as oxidising agent b) Au, which acts as oxidising agent
c) Ca, which acts as reducing agent d) Ag, which acts as reducing agent
5. In the free or the uncombined state, each atom in O O ,PS and Mg has the oxidation number
a) two h) seven
c) Zero d) three
In the reaction H202 — 2H20 + O»
a) Oxygen is reduced only b) Oxygen is oxidised only
) Oxygen is neither oxidised nor reduced d) Oxygen is oxidised as well as reduced
Which of the following elements does not show disproportionation tendency?
a) Br h F
c) 1 d)Cl
Identify the correct statements with reference to the given reaction 4 +30H ™~ — PHjy + 3H, PO .
a) Hydrogen is undergoing oxidation as b) Phosphorus is undergoing oxidation
well as reduction only.
c) Phosphorus is undergoing reduction d) Phosphorus is undergoing oxidation as
only. well as reduction.




Which is oxidizing and Reducing?

b) hydrogen is oxidised

d) electronegativity of sodium determines
the direction of the reaction

a) sodium is reduced
c) sodium is oxidised and hydrogen is
reduced

80. An oxidation number of +2 is found in all their compounds of one of the below given options

a) all alkaline earth metals b) superoxides
c) all alkali metals d) all transition elements

Biology
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(ISODQDWLRQ

7LIJKW MXQFWLRQV KROG FHOOV WRJHWKHU 7KH\ DUH QDUURZ EHH®D WYV
VXUIDFHV Rl WKH DGMDFHQW HSLWKHOLDDKHAMN®®\R SV R XFEOHDD\QHF BVI XV RR
WLVVXH DV WKH\ SUHYHQW SDVVDJH Rl PROHFXOHV DQG LRQV WKURXJ

E
6TXDPRXV HSLWKHOLXP

(ISODQDWLRQ

(QGRWKHOLXP LV D W\SH RI HSLWKHOLXP WKDW OLQHV WKH LQWHULRL
IRUPLQJ DQ LQWHUIDFH EHWZHHQ FLUFXODWLQJ EORRG RU O\PSK LQ W
WKLQHODRI VLPSOH VTXDPRXV FDOOHG HQGRWKHOLDO FHOOV



F
6WRPDFK

(ISODQDWLRQ

&ROXPQDU HSLWKHOLXP LVWHW &H \R D & DQ FRFHOFEIN)DHIE RQ EDV HP HIDQW P |
LV IRXQG LQ SODFHV ZKHUH VHFUHWLRQ DQG DEVRUSWLRQ RFFXUV 6F
HSLWKHOLXP WLVVXH DV VWRPDFK VHFUHWHY GLJHVWLYH MXLFHYV

G
%YHWZHHQ FDUGLDF PXVFOH ILEUHYV

(ISODQDWLRQ
,Q EHWZHHQ FDUGLDF PXVFOH ILEUHV WKHUH DUH FRPPXQLFDWLRQ M
GLVFV

F
J)DEDFHDH

([SODQDWLRQ
)DEDFHDH DUH WKH VRXUFHV IRR SXWDKIHY WHF KRIRRIQDIQ V R

E
$ULO

([SODQDWLRQ
7KH ZKLWH VOXFHQW QOHMKLEOH VWUXFWXUH SUHVHQWEHWZHHQ VHH(
IRXQG LQ PDFH Rl WKH QXWPHJ VHHG

G
&DVKHZ QXW

([SODQDWLRQ
1XW LV D RQH VHHGHG IUXLW ZLWK D KDUG SHULFDUS 7KH FDVKHZQXV
FRYHULQJ

G
JUXLWYV KDYLQJ ZLQJV IRUPHG IURP RWKHU VWUXFWXUH

(ISODQDWLRQ
6DPIMULV D ZLQJHG DFKHQH D W\SH RI IUXLW ZKLFK D IODWWHQHG ZLQ
WKH RYDU\ ZDOO

D
$JIJUHIJDWLRQ RI OHDI EDVH

(ISODQDWLRQ
7KH PDLQ SODQW ERG\ RI EDQDQD LV DJJUHJDWLRQ RI OHDI EDVH 6WF
SUHVHQW DW WKH EDVH Rl SODQW ERG\

E
6WLSXOHV

(ISODQDWLRQ
BWLSXOHV DUH WRB RRXWJIO RYDWKHRI WKH OHDI EDVH ZKLFK SURWHFW W
LQ \RXQJ VWDJH ,W LV D JUHHQ OHDI\ VWUXFWXUH

F
$SRFDUSRXV

(ISODQDWLRQ



KHQ PRUH WKDQ RQH FDUSHO LEKBUBNHQMW WKHDPIDHG DSRFDUSRXV

D
%DVDO SODFHQWDWLRQ

(ISODQDWLRQ
,Q EDVDOSODFHQWDWLRQ WKH SODFHQWD GHYHORSY DW WKH EDVH R

G
&RUROOD

([SODQDWLRQ
7KH VHFRQG ZKRUO Rl WKH IORZHU LV WKH FRUROOD ZKLFK LV FRPSR
WZR SXUSRVHV WR SURWHFW WKH UHSURG XFW IDYFtW RARDQIVQRIMRKIN |0 F

D
'LVWDO

(ISODQDWLRQ
,Q DFURSHWDO VXFFHVVLRQ RI DQ LQIOROHXGNQ B HW R M Q 8 X008 H3AW WD
IORZHU DUH IRXQG DW SUR[LPDO HQG

G
3DULHWDO

(ISODQDWLRQ
30ODFHQWDWLRQ LQ D VIQFDUSRXV XQLORFXODU RYDU\ EHDULQJ WZR
LV FDOOHG SDULHWDO SODFHQWDWLRQ

G
$ VHHG FRDW DQG DQ HPEU\R

(ISODQDWLRQ
$ VHHG LV PDGH XS RI D VHHG FRDW DQG DQ HPEU\R

G
'"UXSH

([SODQDWLRQ
'UXSH LV DQ LQGHKLVFHQW IUXLW\LRDIK\L PKQ B Q/ REWRDNIQIDHDKVKHOO RI
ZLWK D VHHG ODQJR LV DQ H[DPSOH RI GUXSH

E
=\JRPRUSKLF

([SODQDWLRQ
:KHQ D IORZHU LV GLYLGHG LQWR WZR VLPLODU KDOYHV RQO\ LQ RQH
JNJRPRUSKLF





